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Time : 3Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

OR( )

Sem. IV - Chem

Plant Utilities
wilcox boiler with labeled diagram.

following points

(i)   Boiler accident 

(ii)  Duties of chief inspector 

(ii)  

How to use psychomoter chart for measurement

of humidity ?

9.

6

10.

6
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)What is the pH of distilled water ?

(a) 0

(b) 1

(c) 7

(d) 14

to the heat removal rate of 

(a) 200 Btr/min

(b) 50 kcal/min

(c) 50 kJ/s

(d) 3.5 kw

7.

Answer all Five Questions. 
5x6=30

Explain simple vapour compression system with 
diagram.

refrigerants ?

treatment.

sterilization of water.

(i)

OR()

6

8.

OR()

6
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P.T.O

(iii)

(iii)

(iv)

(ii)

The theoretical volume of oxygen required 
3for complete combustion of 1 Nm  of 

3acetylene is ...................... Nm
(a)  0.5
(b) 1
(c) 2
(d) 2.5

0(a) 0 F
0

(b) 492 R
(c) 0K

0
(d) -273 C

What are the impurities present in water ?

Define priming and foaming.

Define dryness fraction of wet steam. 

5.
4

OR( )

6.

OR( )

4
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P.T.O

(v)

(v)

(vi)

(iv)

Specific ..................... is a dimensionless  

quantity. 

(a) Heat

(b) Humidity 

(c) Weight

(d) None of the above

refrigerant ?

(a) Freon 1-2

(b) Ethylene

(c) Ammonia

(d) Carbon dioxide

Which salts causes the temporary and permanent 
hardness of water ?

How boilers are classified ? (Any four classification)

What is reverse osmosis ? Describe it.

OR()

OR()

3.

4.
4

4
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P.T.O

Answer all Five Questions. 

2.

4x5 =20

4 (vii)

(vii)

(vi)

(viii)

In a working refrigerator the value of COP

is always.

(a) 0

(b) <0

(c) <1

(d) >1

refrigeration cycle.

(a) Carnot

(b) Air

(c) Absorption 

(d) Vapour injection 

(xx)

Define :
(i) Relative humidity 
(ii) Dew point temperature 

(ii)  

OR( )
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(ix)

(ix)

(x)

(viii)

(a) Contacting warm vapour gas mixture 
      with cold liquid.
(b) Contacting hot liquid with cold vapour 
      gas mixture
(c) (a) and (b) both
(d) None of these

(a) 0
(b) 100
(c) 1
(d) 0-100

(xviii)

(xix)

(xx)

(xix)

is ............... that of the shell

(a)  One-fourth

(b)  One-third

(c)  Two-fifth

(d)  Three-fifth

(a) Swept volume to the volume at cut off

(b) Clearance volume to the swept volume

(c) Volume at cut off to the swept volume 

(d) Swept volume to the clearance volume 

N4051 N4051
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P.T.O

(xi)

(xi)

(xii)

(x)

equals to 
0(a) 0 C

0(b) 25 C

(c) Gas temperature 

(d) Bubble temperature

solution of the problems of ..............

(a) Vapourization 

(b) Condensation  

(c) Air conditioning 

(d) All of the above

(xvii)

(xvii)

(xviii)

(xvi)

of a shell and tube condenser are made of 

(b) Aluminum

(c) Steel 

(d) Brass

(a) Internally fired 

(b) Externally fired

(c) Internally as well as externally fired

(d) None of these

N4051N4051
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(xv)

(xv)

(xvi)

(xiv)

(xiii)

(xiii)

(xiv)

(xii)

in........................
(a) Air cycle 
(b) Carnot cycle 
(c) Otto cycle 
(d) None of these

COP 

heating of air :
(a) Remains constant
(b) Increases
(c) Decreases 
(d) None of these

In a refrigerating machine, heat rejected is 
......................heat absorbed.
(a) Equal to 
(b) Less than 
(c) Greater than
(d) None of these

a refrigerator 
(a) Increases heat transfer 
(b) Improves C.O.P of the system 
(c) Increases power consumption
(d) Reduces power consumption

N4051 N4051
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What are the bad effects of scale and sludge 
formation in Boiler. 

following points 
(i)  Registration of boiler 
(ii)  Certificate of renewal  

(ii)

pressure. Find the enthalpy and entropy of 1 kg of 
steam at pressure of 10 bar when steam is dry and 
saturated. 

11.

OR( )

6

***

OR( )

What are the bad effects of scale and sludge 
formation in Boiler. 

following points 
(i)  Registration of boiler 
(ii)  Certificate of renewal  

(ii)

pressure. Find the enthalpy and entropy of 1 kg of 
steam at pressure of 10 bar when steam is dry and 
saturated. 

11.

OR( )

6

***

OR( )
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